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formulas you might need ‘h)da\lj-'
cos2 X = 2c0s*x— |
CoS2X = [-28in“X
C0s2X = COX-SIN'X

6.  sin2x-sinx=0 GA. COSZX“SW\X: l
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Trig Equations Mixed Problems:

1. 2cos 8 +5=4cos8+6

- = 2COS 6
COSH =
A

ar
3
Solve tanB =t ang

tan*O-tanv= O
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tang=0  tONO=]
5=0 o=
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3. Solve sin2@-4sinB+1=0
Sing= t£d2
2
+

Ind= 373205
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{.2113,

b-4ac=1b-4(D1)= 12

sinG-. 26994 . .
ol= 2713
1=
0= 23703
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4. 5in28+ cos8+1=0

[-¢cos'6 +cosB+ =0
—C0S® +COSB +2 = O
COSO -COSO® — 2 =0
(Cosi-)—Z)/Cosa+;)= O
CosB=2 (Cose
& o

o 1
™

=

CSCxX = 2 COS5X C5CX

200SXCSCX= CSCX =0

ceex (2cosx- D=0 { I, 531‘1'}
|
CSCXro‘ Cos X'-':E
S‘nx= 6 A~ )
2 Xi= 3
Xiv = §§Tl‘
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ZS!I:\':(Y(ZCOSX =0 CGs X (Z$|Ax+l) - O
SAX=0 COSX= Cosx = O [2sim+l:0
X:O,Tr X= %)Sﬂ- M- Zgl/v\‘—’
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7. sec 2x-4=0 -,_-,_- ?T\- 31‘: H-n?
2, a1 I
Sec’x= ¢ QW"T—' §
CosX=25 i
A=
3
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